Bungalow Semidetached in Mellieha



Mellieha, North



€1,595,000

Reference No: 240011151-215

Total Rooms: 10

Floor Area (m²) : 500

Bathrooms: 3

Bedrooms: 2

Bungalow Semi-detached - For Sale - Mellieha

Mellieha - Modern and contemporary Semi-Detached Villa having an unsual and pleasant layout flooded with light and enjoying views. Comprising of a large open plan kitchen,living,dining that leads to a spacious pool and deck area, three bedrooms main with en suite, main bathroom and guest toilet. Further more property has a games room, storeroom and a three car garage.

Features

- En Suite
- Entrance Hall
- Terrace
- Balcony
- Front Patio

Rooms

- Living/Dining : 8.1 x 4.6 m (37.26 m2)
- Box Room : 3.4 x 5.5 m (18.7 m2)
- Single Bedroom : 3.7 x 4.7 m (17.39 m2)
- Bathroom Ensuite : 2 x 2 m (4 m2)
- Kitchen : 4.1 x 3 m (12.3 m2)
- Single Bedroom : 4 x 4 m (16 m2)
- Walk In Wardrobe : 1.2 x 2 m (2.4 m2)
- Bathroom Ensuite : 2 x 2 m (4 m2)
- Hall : 3.9 x 1.8 m (7.02 m2)
- Office / Study : 3.9 x 3.5 m (13.65 m2)
- Guest Toilet : 2.7 x 2 m (5.4 m2)

- Walk in Wardrobe
- Pool
- Yard
- Garden

Gallery















Cristina Balaceanu RE/MAX Premium - St Julian's

M: 79216311 E: cristina@remax.com.mt T: 25780000

RE/MAX Premium - St Julian's 72/73,Gorg Borg Olivier Street, St Julian's, Malta